April 14, 2022 Math 251: Quiz 10
Name: SOl\N‘k\ OVLS /25

There are 25 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.

1. [4 points] Define G(x) = [y f(t) dt where the graph of f(z) is drawn below.
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a. Determine G(4).

I_(
Bn=( k= 6
0

b. Does G(x) have a maximum on the interval [0, 8]? Explain your answer.

Yes. G has a maximum A=t becanse |
G/$Q 1S ?63]*\'3&( OVL—H\L u;é Ctl’ld M(ﬁomlll»{ CW\-H-” V/ééﬂl.

2. [6 points] Use the Fundamental Theorem of Calculus (Part 1) to find each derivative.

a. % (/lxln(t)dt) = |n (,Q

> g V) =® | - cosz><><-3f“@
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3. [8 points] Evaluate each definite integral using the Fundamental Theorem of Calculus Part 2.

a —dx g Zx “dy = 22xy2]

q(ﬁ > ‘7‘(5/3-

b. /OH/Z(S 3sin(x 5')( "\'BCOSCDQ/J (57T '+35°S(Zf)> <O+3£b5(°~b
4—

4. [7 points] A ball is thrown upward from an initial height of 2 m at an initial speed of 20m/s. Ac-
celeration resulting from gravity is —9.8 m/s?. (Just to be clear, we are assuming a(t) = —9.8 is

the equation modeling the acceleration of the ball.)

a. Solve for v(z), the velocity of the ball ¢ seconds after it is thrown into the air.

Vo= (acdde= (-asdt=-9.6L +c

Use V(NH=20. l (Q,,‘)Bi—PZO
So v(oﬁse?.é(g)}c:z,o
So, C=ls

b. Solve for A(t), the height of the ball 7 seconds after it is thrown into the air.

h(D=(vens= (Co.ge rao)de= -1 L7420t +C

hidy= 2
3o hio)=ft GDQD +20(0) +C =2 L hB e 4982258 12 \

SoC =2.
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